ELEWACJA ZACHODNIA

100

skala 1

fl2 0000000
L2200 )
[2000000))))
L0000 7))
J220000)0))) )
L0000 00 )0 ) 7))
20000000 )0 )]
f2000 000 )00 ))))
L2200 00000 )0 )
WR20000700)09)0)7))
N2 22000000 )07
IDDDDDDDDDDDD)
N2 2000000 )07
N2 2000000 )y
N 200000 )y
N2 20000 )00 )
N2 ) )]
/vavvvvvvv

AAAAANAAAAAAANAA
AAAAANAAAAAAANAA
AAAAANAAAAAAANAA
AAAAANAAAAAAANAA

o e i o i i R

ELEWACJA WSCHODNIA

100

skala 1

—
— o
S
| w
RN R
=[5
S|&
%2}
—
Rl
%
‘D
2
> e
.2 =4
k3 g
2 3 3
~ o
w = .2
Q v n
= N M N
< | > = Q m
2= o N =
Z|2 £ & =
5| & o =
m o 153 < - <
S| >z |0 3 N
zl2|glz|3| 2 g
=lolslg|lal = =
=) Nl2]lS|la N &n
Oole|md|=| E g
N “nl.ﬂ._
£ 25 .
[5) ) —
2 o & <
sl 2lulB3 2
slelgleg]g i)
| = o hY)
w8l g9| »
153 S|9| = Q
S eEla|l&5|8 >
= 5] > < &
S| (¢]|< (A [-»

e




